Problem 2.1.1

Soln: On a machine with base 
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and 
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 places in the mantissa, let 
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We have 
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On Marc-32 
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Problem 2.1.9 

If 26 1’s after decimal points,
Soln: 
[image: image10.wmf].
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Problem 2.1.10
Soln: 
[image: image11.wmf].
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Problem 2.1.14

Soln: (e) is not true.
Problem 2.1.29
Soln: For rounding, 
[image: image12.wmf].
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Problem 2.2.2

Soln: Use the theorem 
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. At most 5 and at lest 4 binary bits are lost.

Problem 2.2.6

Soln: 
[image: image16.wmf]).
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Problem 2.2.15

Soln: 
(a) f(0)=0, using L’Hospital’s rule.
(b) Near 
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(c) Use 
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(d) Identity 
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Problem 2.2.17

Soln: Use the theorem 
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